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(DHPE ¢ 100mmAf 5% T3 Eit A ER(IH)= 0.80 m
I (W) RKARIE(C)
BHME(D2) 0.125 I (W) 0.55 + = 0.55 m
HRFIE (W) B (HI) B o
H 1= 0.55 x( 0.77 0.125 + 0.1)=  0.55 ot
FEHIE (W) HR(HL) WHREN) R
AR = 0.55 X ( 0.77 0.1 - 0.12)=  0.30 m
FEHIE (W) W EE (h1) ElrmE
MR = 0.55 X  0.325 0.0123 = 0.17 ni
FEHIE (W) HR(HL) T (h)
i LR = X ( - )= m
-2 FAHEREL AR
7% 1Ay = 0.55 - 0.9 = 0.55 m
SR (H) I, Sl Ry o
D2 E/ME— T (um)
Koy| & T B S Hl D2:| 8 AR 125
1 [PP¢ 13mm 21.5 0.55 W:| 8 H ) b 0.55
2 |PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
(C)
9 [DCIP¢ 125m | 143.0 0.65 D
10 |EF ¢ 150mm 180.0 0.55
11 [DCIP(GX) ¢ 200mm]| 250.0 0.60 =
12 |DCIPGX) ¢ 250mm|  271.6 0.70 z
13 |[DCIP(GX) ¢ 300mm| 322.8 0.70 <
14 |DCIPGX) ¢ 350m]|  374.0 0.90 g ]
15 |DCIPGX) ¢ 400mm| 425.6 0.95 —
16 [DCIP(GX) ¢ 450mm|  476.8 1.00
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PRE L &= 0.55 X ( 0.77 + 0.125 + 0.1)=  0.55
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W L = 0.55 X( 0.8 - 0.1 - 0.39
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2 |[PP ¢ 20mm 27.0 0.55
3 _|PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 [PP ¢ 50mm 60.0 0.55
9 |DCIP¢ 125mm| 143.0 0.65 D
10 |EF ¢ 150um 180.0 0.50
11 _[DCIP(GX) ¢ 200mm] 220.0 0.75 .
12 |[DCIP(GX) ¢ 250mm| 271.6 0.80 lf/
13 [DCIPGX) ¢ 300m|  322.8 0.85 1=
14 |pcIpGx) ¢ 350mm|  374.0 0.90 = g
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 0
16 [DCIP(GX) ¢ 450mm| 476.8 1.00

15




07 iy sV LM

01 o 02°0 X 0I'S sV e 10 T 24

7 w €6 X GF0 F Ha Lo+ %4

91 u €6 X LT°0 it

9°¢ €6 X 6270 0p-0¥ T @il

(T w £'6 X S0 FH@ LR

I’ w €6 X 660 L Yawopr X W= sy | TC 30X WY 3RS

9'81 w €6 X 007 L YFWOgY RWGI=) SV TGRS
0 TE+0N~LTZ+0N

BEE g T EdymooT ¢ HdHE N T 6o
uo =(O)aH>%
=(H) & w =(DEH

16



+ T

[=]

&

(QHPE ¢ 100mmAfi 3% L& gt BERID= 0.80 m
IR (W) KRR (C)
B (D2) 0.125 IR (W) 0.55 + 0.55 m
HRHIIE (W) R (H1) AR b
H TR = 0.55 x(  0.60 0.125 + 0.1)=  0.45
JEHIIE (W) ER(HL WHREE®R) R
AR = 0.55 x(  0.80 0.1 - )= 0.39
JEHIIE (W) WHEE (hl) T A
PR = 0.55 X  0.325 0.0123 = 0.17 m
HRHIIE (W) R (H1) WHEE®N) B
P IR = X ( - )=
i R F IR L TR
7 LAy = 0.45 - 09 = 045 i
SRR (HLL) T, Sl 5 H B Ko
D2: B /M — B & (nm)
Koy| & T B i Fl D2:| 8 B 125
1 [PP¢ 13mm 21.5 0.55 W:| 8 HH ) 0.55
2 [PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 _|PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 [PP ¢ 50mm 60.0 0.55
‘ (©) ©)
9 [DCIP¢ 125mm| 143.0 0.65 N
10 _|EF ¢ 150mm 180.0 2.00
11 [DCIP(GX) ¢ 200mm| 220.0 0.75 o
12 |DCIPGX) ¢ 250mm|  271.6 0.80 =
13 |DCIPGX) 0 300m| 322.8 0.85 =
14 [DCIPGX) ¢ 350m|  374.0 0.90 < S
15 |peIPGx) 6 400m|  425.6 0.95 0.1
16 |DCIP(GX) ¢ 450mm|  476.8 1.00
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(DPP ¢ 50mmAfi g% TE BRE)= 0.80 m
I (W) RKARIE(C)
B (D2) 0.060 P (W) 0.55 + = 0.55
HRFIE (W) B (HI) B o
H 1= 0.55 x(  0.77 0.06 + 0.1)= 0.51 nf
FEHIE (W) HR(HL) WHREN) R
AR = 0.55 x(  0.80 0.1 - )= 0.39 m
FEHIE (W) LB (1) ElrmE
MR = 0.55 X  0.260 0.0028 = 0.14 i
HRFIE (W) B (HI) WHREE®N) B
i LR = X ( - )= m
A& i EEEL ER NS
Fe = 0.51 - ~ 09 = 051 m
SRR (H) I, Sl By o
D2 EHME— B (um)
X5 E R EOME SR D2:| 6 EHME 60
1 [PP¢ 13mm 21.5 0.55 W:| 6 EtEUL 0.55
2 |PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
PP ¢ 40mn 0.55
7 |EF ¢ 75mn 89.0 0.55 ©L (W) -~ (©)
8 |EF ¢ 100mm 125.0 0.55 | I
9 [DCIP¢ 125mm| 143.0 0.65
10 |EF ¢ 150mm 180.0 0.50
11 [DCIPGX) ¢ 200mm]|  220.0 0.75 -
12 |DCIP(GX) ¢ 250mm]  271.6 0.80 =
13 |pcIpGx) ¢ 300m|  322.8 0.85 | =
14 |DCIPGX) ¢ 350mm|  374.0 0.90 < S
15 [DCIP(GX) ¢ 400mm]| 425.6 0.95
16 |DCIPGX) 6 450m|  476.8 1.00 ] ]
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+ T B =\ R
OPP ¢ 30mmi = CHCEF BRID= 0.60 m
IR (W) FAE(C)
BAE(D2)  0.042 R (W) 0.55 + = 0.55
HEHIE (W) B R (HL) B oy
PR 1B = 0.55 X(  0.57 + 0.042 + )= 0.34 m
HEHIE (W) B R (HL) WHERENL) g
WA = X ( - - )= m
HEHIE (W) WHLEE (h1) AR
T = X - = o
HEHIE (W) B R (HL) WHERENL) g
A LR = 0.55 X ( 0.57 - - 0.12)= 025 mt
Ell o s WA HEREL BRI ¥
7 A= 0.34 - 025 =+ 09 = 006 nf
SOE R (H) 1, S HI Ryt Ko

X5y H R HoME i D2:| 4 HOME 42
1 21.5 0.55 W:| 4 i 1 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP¢ 125mm| 143.0 0.65
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm] 220.0 0.75 =
12 |[DCIP(GX) ¢ 250mm| 271.6 0.80 =
13 [DCIP(GX) ¢ 300mm| 322.8 0.85 . @
14 |DCIPGX) ¢ 350m|  374.0 0.90 < g
15 [DCIP(GX) ¢ 400mm| 425.6 0.95
16 [DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T s R
©®PP ¢ 30mmifil £ [ ¥ wit 5 HR(IH)= 0.60 m
S b (W) FMUE(C)
BHME(D2) 0.042 I (W) 0.55 + = 0.55 m
HEAIIE (W) R (HL) MR s
H 1= 0.55 X(  0.57 + 0.042 + )= 0.34 o
FEHIE (W) HR(HL) WHREN) R
W MR = X ( - - )= m
FEHIE (W) LB (1) ElrmE
MR = X - = m
FEHIE (W) HR(HL) WHREN) R
Vi LR = 0.55 X ( 0.60 - - )= 0.33 m
-2 FAHEREL AR
B e = 0.34 - 033 = 09 = -0.03 nf
SR (H) I, Sl Ry o
D2 E/ME— T (um)
Koy| & T B S e D2:| 4 EAME 42
1 21.5 0.55 W:| 4 H ) b 0.55
5 |PP ¢ 40mn 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 _|EF ¢ 75m 89.0 0.55 L. (W) - (©
8 |EF ¢ 100mm 125.0 0.55 | |
9 [DCIP¢ 125mm| 143.0 0.65 S
10 |EF ¢ 150mm 180.0 0.50
11 [DCIP(GX) ¢ 200mm]| 220.0 0.75 ’E\
12_|DCIPGX) ¢ 250mn|  271.6 0.80 -
13 [DCIP(GX) ¢ 300m|  322.8 2.40 | =
14 |DCIPGX) ¢ 350m]|  374.0 0.90 < o
15 [DCIP(GX) ¢ 400mm| 425.6 0.95 VO]
16 |pCIP@Gx) 0 450m| 476.8 1.00 ] ]
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+ T K wm %
DPP ¢ 20mmAfi 7% [ ¥ wit 5 BFRH= 0.80 m
I (W) RKARIE(C)
BAaE(D2)  0.027 S b (W) 0.55 + = 0.55 m
HRFIE (W) R (H) B o
H 1= 0.55 x(  0.77 + 0.027 + 0.1)=  0.49 o
FEHIE (W) BR(H) WHREN) R
AR = 0.55 x( 077 - 01 - 0.16)=  0.28 m
FEHIE (W) LB (1) ElrmE
MR = 0.55 X 0.227 - 0.0006 = 0.12 m
HRFIE (W) R (H) WHREE®N) B
i LR = X ( - - )= m
-2 FAHEREL AR
7 L= 0.49 - = 09 = 049 nof
E R (FD 1%, SlZEEHI bR A it
D2 E/ME— T (um)
Koy| & T B PREE  |saeeeens] [D2:] 2 EAME 27
1 |PP¢ 13mm 21.5 0.55 W:| 2 H ) b 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 [EF-HI ¢ 50mm 60.0 0.55
7 _|DIP ¢ 75mm 89.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP¢ 125mm| 143.0 0.65 M20-10 S
10 |EF ¢ 150mm 180.0 0.50
11 [DCIP ¢ 200mm | 220.0 0.75 M20- 10 i
12 |DCIP ¢ 250mm [ 271.6 0.80 M20-10
13 | KWK ¢ 300mm| 322.8 2.40 M20- 10 <
14 |DCIP ¢ 350mm [ 374.0 0.90 M20- 10 g’\
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm | 476.8 1.00 M20-10
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+ T B = R
®PP ¢ 20mmAfi 5% LA R HRH= 0.80 m
I (W) RKARIE(C)
BAaE(D2)  0.027 I HIhE (W) 0.55 - = 0.55
HRFIE (W) R (H) B o
H 1= 0.55 x(  0.77 + 0.027 + 0.1)=  0.49 o
FEHIE (W) BR(H) WHREN) R
MR = 0.55 x( 0.80 - 0.1 - )= 0.39 m
FEHIE (W) LB (1) ElrmE
MR = 0.55 X 0.227 - 0.0006 = 0.12 m
FEHIE (W) BR(H) WHREN) R
i LR = X ( - - )= m
-2 FAHEREL AR
7 L= 0.49 - = 09 = 049 nof
E R (FD 1%, SlZEEHI bR A it

D2 & /Mt —EZ (nm)

Koy| & T B PREE  |saeeeens] [D2:] 2 EAME 27

1 |PP¢ 13mm 21.5 0.55 W:| 2 H ) b 0.55
3 [PP ¢ 25mm 34.0 0.55

4 |PP ¢ 30mm 42.0 0.55

5 [PP ¢ 40mm 48.0 0.55

6 [EF-HI ¢ 50mm 60.0 0.55

7 _|DIP ¢ 75mm 89.0 0.55

8 |EF ¢ 100mm 125.0 0.55

9 [DCIP¢ 125mm| 143.0 0.65 M20-10

10 |EF ¢ 150mm 180.0 0.50

11 [DCIP ¢ 200mm | 220.0 0.75 M20- 10

12 |DCIP ¢ 250mm [ 271.6 0.80 M20-10

13 | KWK ¢ 300mm| 322.8 2.40 M20- 10 <
14 |DCIP ¢ 350mm [ 374.0 0.90 M20- 10 g’\
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10

16 |DCIP ¢ 450mm | 476.8 1.00 M20-10
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+ T K wm %
QPP ¢ 20mmifil £ [ ¥ &it 5 BRH= 0.60 m
I (W) RKARIE(C)
BAaE(D2)  0.027 S b (W) 0.55 + = 0.55 m
HRFIE (W) R (H) B o
H 1= 0.55 x(  0.57 + 0.027 + )= 0.33 ot
FEHIE (W) BR(H) BAME PEAZ
AR = 0.55 X(  0.57 + 0.027 - 0.12)=  0.26 m
FEHIE (W) LB (1) ElrmE
MR = X - = m
FEHIE (W) BR(H) WHREN) R
i LR = X ( - - )= m
-2 FAHEREL AR
7 L= 0.33 - = 09 = 033 nof
E R (FD 1%, SlZEEHI bR A it
D2 E/ME— T (um)
Koy| & T BHR PREE || |D2: 2 EoME 27
1 |PP¢ 13mm 21.5 0.55 W:| 2 H ) b 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 [EF-HI ¢ 50mm 60.0 0.55
7 _|DIP ¢ 75mm 89.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP¢ 125mm| 143.0 0.65 M20-10 S
10 |EF ¢ 150mm 180.0 0.50
11 [DCIP ¢ 200mm | 220.0 0.75 M20- 10 i
12 |DCIP ¢ 250mm [ 271.6 0.80 M20-10
13 | KWK ¢ 300mm| 322.8 2.40 M20- 10 <
14 |DCIP ¢ 350mm [ 374.0 0.90 M20- 10 g’\
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm | 476.8 1.00 M20-10
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L
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[#&41]
100A
ATV G L=4250 2 2 A&
100A
L=4000 4 4 A
100A IR RV e
L=4000 2 2 A
100A X 80A
ATV AT Ty TFAE | 173200 X H=210 1 1 EN
100A
A7V VAR L=1600 1 1 A
100A
T KGR 1=3250 1 1 N
L00AH
ZEREEA UV E T 9 9 HH
100AFH
FF4ADB URLINE T2 2 2 HH
100A
A — R {1 2 == 30mm 2 2 =
RS ¢ 25mm 1 1 i
XL iksh4r B 100AMH 1 1 HH
HWrr—7 TIVE L 6.8 + 6.8 13.6 m
[55%])
BT i Sz 1 1 =y
L.,(llh(*&
AT L ASEERE T 100A X 4.0t 12 12 |figr
BB E pT R L 12 12 |figr
RARBT  25mm 1 L |fPr
e E % B 2 9 TR
KRR A Bk 11 11 T
Xipts A L 12 12 #
18-8-25BB
o 7Y—k 1L /NI YY) 0.11 X (4.7+6.8)= 1.27 1.3 m
T T /NS 0.70 X (4.74+6.8) = 8.05 8.1 i
SRR T RC-40 0.55 X (4.7+6.8) = 6.33 6.3 m
S A T 13.6 13.6 m
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+ T B = R
(D100A(SUS304) A 5% LA R FR(H)= 120 m
I (W) RKARIE(C)
BHME(D2) 0.114 I (W) 0.55 + 0.55 m
HRFIE (W) B (HI) B o
H 1= 0.55 X ( 1.17 + 0.114 + 0.1)=  0.76
FEHIE (W) HR(HL) WHREN) R
AR = 0.55 X ( .2 - 01 - )= 0.61
FEHIE (W) W (h1) ElrmE
MR = 0.55 X  0.314 - 0.0103 = 0.16 m
FEHIE (W) HR(HL) T (h)
i LR = X ( - - )=
-2 FAHEREL AR
¥ LAy = 0.76 - = 09 = 076 m
SR (H) I, Sl Ry o
D2 E/ME— T (um)
Koy| & T B S e D2:| 8 EAME 114.3
1 [PP¢ 13mm 21.5 0.55 W:| 8 H ) b 0.55
2 |PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
(C)
9 [DCIP¢ 125m | 143.0 0.65 D
10 |EF ¢ 150mm 180.0 0.55
11 [DCIP(GX) ¢ 200mm]| 250.0 0.60 =
12 |DCIPGX) ¢ 250mm|  271.6 0.70 z
13 |[DCIP(GX) ¢ 300mm| 322.8 0.70 <
14 |DCIPGX) ¢ 350m]|  374.0 0.90 g ]
15 |DCIPGX) ¢ 400mm| 425.6 0.95 —
16 [DCIP(GX) ¢ 450mm|  476.8 1.00
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@100ASUS304) A g% THFH BRAD=1.20
P (W) KIRIE(C)
BAE(D2)  0.114 i HIHE (W) 0.55 0.55 m
HRHIIE (W) % (HI) BN i
PRE L &= 0.55 X ( 1.17 0.114 + 0.1)=  0.76
A (W) BER(HL) WEREN) R
W L = 0.55 X( 1.2 0.1 - 0.61
HRHIIE (W) WHLEE (h1) TR
WYHLGE = 0.55 X  0.314 0.0103 = 0.16
HRHIIE (W) % (HI) O R (h)
TR LR = X ( -
A& i EEEL ER NS
7 ALy = 0.76 - 0.9 = 0.76
R (HL) I, SR H Ryt o
D2 A —E 7 (um)
X4y ‘H O EOME SR 1 D2: BHME 114.3
1 [PP¢ 13mm 21.5 0.55 W: EtEUL 0.55
2 |PP ¢ 20mm 27.0 0.55
3 _[PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 [PP ¢ 50mm 60.0 0.55
9 |DCIP¢ 125mm| 143.0 0.65 D
10 |EF ¢ 150um 180.0 0.50
11 _[DCIP(GX) ¢ 200mm] 220.0 0.75 .
12 |[DCIP(GX) ¢ 250mm| 271.6 0.80 lf/
13 [DCIPGX) ¢ 300m|  322.8 0.85 1=
14 |pcIpGx) ¢ 350mm|  374.0 0.90 = g
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 0
16 [DCIP(GX) ¢ 450mm| 476.8 1.00
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WEHE@ HPE ¢ 100, PP ¢ 50, PP ¢ 20 &EH (A%

L

AR Ak B & | L
[#&41]
K=
EFZ OftEE ¢ 100 11 11 IS
750y ¢ 100 1 1 il
FED
V7N — AR ¢ 100 1 1 18
FiED
$ 50 1 1 18
HEHRE JWWA B 132 1 3 3 il
FEINZ
RB25 (K) 2 3 6 &
ik
RA25(A) 1 3 3 18
TEREE
RC25(C) 1 3 3 &
JEERR
RS25(S) 1 3 3 HH
EFYrob ¢ 100 1 1 il
¢ 100
EF RS2SR 300H 1 1 &
A ASUSaT i
PVY aA Vb $ 100X ¢ 50 1 1 &
$ 100 [AR+IES ?50 Ak
R —7 TS| 60.11 0.86 + 4.60 + 1.80 65.7 m
= —H—H 4 4 i
RYTF LT ® 50 4.60 4.6 m
$20 1.80 1.8 m
Fikh
FCD#U: ¢ 50 1 1 {8l
SUSayff
MFY 2 v b ¢ 50 4 4 18
PP/ /r vk ¢ 50 1 1 &
PP /LR ¢ 50 1 3 3 &
$ 20 1 1 1 &
PV LR ¢ 20 1 1 1 18
EFE AR5 7K ¢ 100X ¢ 50 1 2 2 1
$ 100X ¢ 20 1 1 1 &
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Q@ HPE ¢ 100, PP ¢ 50, PP ¢ 20

5555 (AR 3%)

g 15 Je O B K

% R f Sl & | Hw
[95%])
AV L fiak L ¢ 100 59.25 59.3 m
¢ 50 4.60 4.6 m
$ 20 1.80 1.8 m
WHIELE =AU T $ 50 1 1 8]
EE H ) PN Frauk
RSB AT T 6 100 1+ 1 + 2 + 1 15 |@E
PVeafsh
AN =H VT L ¢ 100 1 1 8]
MEY s 40k PV A0k
¢ T5LL F 4+ 1 5 8]
IR
77 fEF T ¢ 100 1 1 0
RURZEEEA
$ 65U F 4 4 8]
fERRE S
i E L ¢ 100 1 1 5150
ERE T
¢ 50 2 2 B
[ARFIES
R F LA — T T ¢ 100 60.11 - 0.86 59.3 m
o A T 65.7 65.7 m
ok EI%N YR
PPHEF T ¢ 50 2+ 6+ 2 10 M
T AR R
6 20 4+ 1 5 8]
EFE H
SRR T ¢ 100X ¢ 50 2 2 5150
EFE ]
¢ 100X ¢ 20 1 1 B
EEE L =S ¢ 50 60.8 60.8 m
SRS | ¢ 50X ¢20 1 1 &
sy B7IAF | 68.92 68.2 | ke
AIT T $RAZTT | 2.00 2.0 kg
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EHEHQ MEBEMHE (AR)

Bk

L

B |

i) (2B HEA)
BRI e =V 050 60.80 X 1.122 68.22 | ke
BETTAF v 4E| 68.22 | ke

(i) (2EHEM)
AN v 650X ¢ 20 1.0 %X 2.00 2.00 | ke
$AVTY 7| 2.00 | ke
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+ T

LEEX
(DHPE ¢ 100mmAf 5% T3 Eit A FRI)= 091 m
I (W) RKARIE(C)
BHME(D2) 0.125 I (W) 0.55 + = 0.55 m
HRFIE (W) B (HI) B o
H 1= 0.55 X ( 0.88 0.125 + 0.1)=  0.61 o
FEHIE (W) HR(HL) WHREN) R
MR = 0.55 X ( 0.91 0.1 - )= 0.45 m
FEHIE (W) W EE (h1) ElrmE
MR = 0.55 X  0.325 0.0123 = 0.17 ni
FEHIE (W) HR(HL) T (h)
i LR = X ( - )= m
-2 FAHEREL AR
¥ LAy = 0.61 - 0.9 = 0.6l ni
SR (H) I, Sl Ry o
D2 E/ME— T (um)
Koy| & T B S Hl D2:| 8 AR 125
1 [PP¢ 13mm 21.5 0.55 W:| 8 H ) b 0.55
2 |PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
(C)
9 [DCIP¢ 125m | 143.0 0.65 D
10 |EF ¢ 150mm 180.0 0.55
11 [DCIP(GX) ¢ 200mm]| 250.0 0.60 =
12 |DCIPGX) ¢ 250mm|  271.6 0.70 z
13 |[DCIP(GX) ¢ 300mm| 322.8 0.70 <
14 |DCIPGX) ¢ 350m]|  374.0 0.90 g ]
15 |DCIPGX) ¢ 400mm| 425.6 0.95 —
16 [DCIP(GX) ¢ 450mm|  476.8 1.00
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+ T ¥ &
@HPE ¢ 100mmAf 5% T 51 H wRID=_0.91
P (W) KIRIE(C)
BAE(D2)  0.125 i HIHE (W) 0.55 0.55 m
HRHIIE (W) B (H1) BN i
PRE L &= 0.55 X ( 0.88 + 0.125 + 0.1)=  0.61
A (W) BER(HL) WEREN) R
W L = 0.55 X( 0.88 - 0.1 - 0.12)=  0.36
HRHIIE (W) WHLEE (h1) TR
WYHLGE = 0.55 X 0325 - 0.0123 = 0.17
HRHIIE (W) B (H1) O R (h)
TR LR = X ( - -
A& i EEEL ER NS
7 ALy = 0.61 - +~ 0.9 = 0.6l
R (HL) I, SR H Ryt o
D2 A —E 7 (um)
X4y ‘H O EOME SR 1 D2: BHME 125
1 [PP¢ 13mm 21.5 0.55 W: EtEUL 0.55
2 |[PP ¢ 20mm 27.0 0.55
3 _|PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 [PP ¢ 50mm 60.0 0.55
9 |DCIP¢ 125mm| 143.0 0.65 D
10 |EF ¢ 150um 180.0 0.50
11 _[DCIP(GX) ¢ 200mm] 220.0 0.75 .
12 |[DCIP(GX) ¢ 250mm| 271.6 0.80 lf/
13 [DCIPGX) ¢ 300m|  322.8 0.85 1=
14 |pcIpGx) ¢ 350mm|  374.0 0.90 = g
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 0
16 [DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T B = R
QPP ¢ 50mmAfi 5% L X G H ERID= 0.91 m
IR (W) KRR (C)
B (D2) 0.060 IR (W) 0.55 + = 0.55
HRHIIE (W) R (HI) AR e
H TR = 0.55 x(  0.88 0.06 + 0.1)=  0.57
HEHIE (W) HXR(HL) PHRIE(M) R
AR = 0.55 x(  0.91 0.1 - )= 0.45
JEHIIE (W) WHEE (hl) T A
PR = 0.55 X  0.260 0.0028 = 0.14 m
HRHIIE (W) R (HI) WHEE®N) B
Vi TR = X ( - )=
Ell o s WA HEREL BRI ¥
Ay = 0.57 - 09 = 057
SOE R (H1) 1, S HIBRys K
D2: B /M — B & (nm)
Koy| & T B S e D2:| 6 EAME 60
1 [PP¢ 13mm 21.5 0.55 W:| 6 HH ) 0.55
2 [PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55

7 |EF ¢ 75mm 89.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP¢ 125mm| 143.0 0.65
10 [EF ¢ 150mm 180.0 2.00
11 [DCIP(GX) ¢ 200mm]|  220.0 0.75
12 [DCIP(GX) ¢ 250mm| 271.6 0.80
13 [DCIP(GX) ¢ 300mm| 322.8 0.85
14 [DCIP(GX) ¢ 350mm| 374.0 0.90
15 |DCIP(GX) ¢ 400mm] 425.6 0.95
16 [DCIP(GX) ¢ 450mm| 476.8 1.00
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s -
(DPP ¢ 50mmfl £ TH G ERID= 070 m
I (W) RKARIE(C)
BAE(D2)  0.060 S b (W) 0.55 + = 0.55 m
HRFIE (W) B (HI) B o
H 1= 0.55 x(  0.67 0.06 + )= 0.40 nf
FEHIE (W) HR(HL) WHREN) g
W MR = X ( + )= m
FEHIE (W) LB (1) ElrmE
MR = X = m
FEHIE (W) HR(HL) WHREN) g
oA LR = 0.55 X ( 0.7 ~ 0060 )= 0.35 ol
A& i EEEL ER NS
7% AL = 0.40 - 0.35 09 = 0.0l i
SR (H1) 1, Sl HI BRI 5
D2 EHME— B (um)
X5 E R EOME SR D2:| 6 EHME 60
1 [PP¢ 13mm 21.5 0.55 W:| 6 EtEUL 0.55
2 |PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
PP ¢ 40mn 0.55
7 |EF ¢ 75mn 89.0 0.55 OF (W) - (©)
8 |EF ¢ 100mm 125.0 0.55 | I
9 [DCIP¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIPGX) ¢ 200mm|  220.0 0.75 -
12 |DCIP(GX) ¢ 250mm] 271.6 0.80 =
13 |pcIpGx) ¢ 300m|  322.8 0.85 | =
14 |DCIPGX) ¢ 350mm|  374.0 0.90 < g
15 [DCIP(GX) ¢ 400mm]| 425.6 0.95 0?1
16 |DCIPGX) 6 450m|  476.8 1.00 ] ]
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+ T K & R
OVP ¢ 50mmfl & CERFHH BERI)= 0.70 m
R (W) FARE(C)
BAE(D2)  0.060 SR (W) 0.55 + = 0.55 m
HEHIE (W) B R (HL) B oy
] = 0.55 x(  0.67 0.06 + )= 0.40 m
HEHIE (W) B R (HL) EHME AR
WA= X ( - )= m
HEHIE (W) IR (h1) AR
PRI = X = m
HEHIE (W) B R (HL) WHERENL) g
A LR = 0.55 X ( 0.67 0.060 - 0.12)=  0.34 mt
Ell o s WA HEREL BRI ¥
7 L= 0.40 - 0.34 0.9 = 0.02 nof
SOE R (H) 1, S HI Ryt Ko
D2 HME— B (nm)
X5y O HoME S A1 D2:| 6 AR 60
1 (PP ¢ 13mm 21.5 0.55 W:| 6 H 1) 0.55
2 |[PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mmn 42.0 0.55
5 [PP ¢ 40mn 48.0 0.55
7_|EF ¢ 75mm 89.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIPGX) ¢ 200mm|  220.0 0.75 T~
12 [DCIPGX) ¢ 250mm]  271.6 0.80 =
13 [DCIP(GX) ¢ 300mm]| 322.8 0.85 . @
14 [DCIP(GX) ¢ 350mm]|  374.0 0.90 < g
15 [DCIP(GX) ¢ 400mm|  425.6 0.95 0.1
16 |DCIPGX) ¢ 450mm|  476.8 1.00
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+ T B = R
®PP ¢ 20mmAfi % LA HRH)= 0.66 m
S b (W) FMUE(C)
BHME(D2) 0.027 I (W) 0.55 + = 0.55 m
HEAIIE (W) R (HL) MR s
H 1= 0.55 x(  0.63 + 0.027 + 0.1)=  0.42 m
FEHIE (W) HR(HL) WHREN) R
MR = 0.55 x( 0.66 - 0.1 - )= 0.31 m
FEHIE (W) LB (1) ElrmE
MR = 0.55 X 0.227 - 0.0006 = 0.12 m
HEAIIE (W) R (HL) WHRER
v LR = X ( - - )= m
-2 FAHEREL AR
B e = 0.42 - + 09 = 042 m
SR (H) I, Sl Ry o
D2 E/ME— T (um)
Koy| & T B S e D2:| 2 B 27
W:| 2 H ) b 0.55
3 |PP ¢ 25mn 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mn 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 _|EF ¢ 75m 89.0 0.55 L. (W) . (©)
8 |EF ¢ 100mm 125.0 0.55 | |
9 [DCIP¢ 125mm| 143.0 0.65 S
10 |EF ¢ 150mm 180.0 0.50
11 [DCIP(GX) ¢ 200mm]| 220.0 0.75 ’E\
12_|DCIPGX) ¢ 250mn|  271.6 0.80 -
13 [DCIP(GX) ¢ 300m|  322.8 2.40 | =
14 |DCIPGX) ¢ 350m]|  374.0 0.90 < o
15 [DCIP(GX) ¢ 400mm| 425.6 0.95 VO]
16 |pCIP@Gx) 0 450m| 476.8 1.00 ] ]
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+ T B = R
(DVP ¢ 20mmiil £ TR BWRH= 0.60 m
I (W) RKARIE(C)
BAaE(D2)  0.027 S b (W) 0.55 + = 0.55 m
HRFIE (W) R (H) B o
H 1= 0.55 x(  0.57 + 0.027 + 0.1)=  0.38 ot
FEHIE (W) BR(H) T (h) B
W MR = X ( - + )= m
FEHIE (W) LB (1) ElrmE
MR = X - = m
FEHIE (W) BR(H) T (h) B
Vi LR = 0.55 X ( 0.6 - - 0027 )= 0.32 m
-2 FAHEREL AR
7 L= 0.38 - 032 =~ 09 = 0.02 nf
E R (FD 1%, SlZEEHI bR A it
D2 E/ME— T (um)
Koy| & T B PREE  |saeeeens] [D2:] 2 EAME 27
1 |PP¢ 13mm 21.5 0.55 W:| 2 H ) b 0.55
3 [PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 _|DIP ¢ 75mm 89.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP¢ 125mm| 143.0 0.65 M20-10 S
10 |EF ¢ 150mm 180.0 0.50
11 [DCIP ¢ 200mm | 220.0 0.75 M20- 10 i
12 |DCIP ¢ 250mm [ 271.6 0.80 M20-10
13 | KWK ¢ 300mm| 322.8 2.40 M20- 10 <
14 |DCIP ¢ 350mm [ 374.0 0.90 M20- 10 g’\
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm | 476.8 1.00 M20-10
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